Tuition and Fees 2014-15											
Domestic Students - Undergraduate and Professional Programs											
			[	Due: Sep 1	Due: Sep 1		D	ue: Sep 30			
	Normal	Unit			Tuition	Student			Student		Takal
	Units		Fee		2014-15 Assistance Levy		Activity Fees			Total	
	(Note 1)				(Note 3)		(Note 4)		(Note 3)		
Engineering & Applied Science (Notes 2 & 5)											
After May 1, 2013	30	\$	380.13	\$	11,403.90	\$	100.00	\$	1,005.55	\$	12,509.45
Between May 1, 2012-Apr 30, 2013	30	\$	372.94	\$	11,188.20	\$	100.00	\$	1,005.55	\$	12,293.75
Prior to May 1, 2012	30	\$	359.11	\$	10,773.30	\$	100.00	\$	1,005.55	\$	11,878.85
Arts and Science (Note 6)											
After May 1, 2012	30	\$	201.77	\$	6,053.10	\$	100.00	\$	911.93	\$	7,065.03
Prior to May 1, 2012	30	\$	200.80	\$	6,024.00	\$	100.00	\$	911.93	\$	7,035.93
Commerce											
After May 1, 2013	33	\$	472.42	\$	15,589.86	\$	110.00	\$	1,084.32	\$	16,784.18
Between May 1, 2012-Apr 30, 2013	30	\$	463.45	\$	13,903.50	\$	100.00	\$	1,084.32	\$	15,087.82
Prior to May 1, 2012	27	\$	446.29	\$	12,049.83	\$	90.00	\$	1,084.32	\$	13,224.15
Education											
Consecutive and Final Year Concurrent	Per unit	\$	198.91				see Note 3	\$	915.54		
Concurrent (Education Courses)	Per unit	\$	198.91				see Note 3				
Continuing Education Courses (AQ)	course			\$	715.00	\$	20.00			\$	735.00
Continuing Education Courses (ABQ)	course			\$	665.00	\$	20.00			\$	685.00
Law											
After May 1, 2013	Per term	\$	8,465.54	\$	16,931.08	\$	100.00	\$	1,044.39	\$	18,075.47
Prior to May 1, 2013	Per term	\$	8,304.92	\$	16,609.84	\$	100.00	\$	1,044.39	\$	17,754.23
Medicine											
After May 1, 2014	Per term	\$	11,720.10	\$	23,440.20	\$	100.00	\$	1,109.82	\$	24,650.02
Between May 1, 2013-Apr 30, 2014	Per term	\$	11,720.10	\$	23,440.20	\$	100.00	\$	1,029.82	\$	24,570.02
Between May 1, 2012-Apr 30, 2013	Per term	\$	11,497.71	\$	22,995.42	\$	100.00	\$	1,029.82	\$	24,125.24
Prior to May 1, 2012	Per term	\$	11,071.83	\$	22,143.66	\$	100.00	\$	1,029.82	\$	23,273.48

Nursing						
After May 1, 2012	30	\$ 201.77	\$ 6,053.10	\$ 100.00	\$ 963.92	\$ 7,117.02
Prior to May 1, 2012	30	\$ 200.80	\$ 6,024.00	\$ 100.00	\$ 963.92	\$ 7,087.92
Advanced Standing Track	33	\$ 200.80	\$ 6,626.40	\$ 110.00	\$ 983.92	\$ 7,720.32

School of Religion											
Master of Divinity/Bach of Theology (2 year program)											
All Students	Per term	\$	2,999.00	\$	8,997.00	\$	100.00	\$	1,069.04	\$	10,166.04
Master of Div/Bach of Theology (3 year pr	ogram)										
All Students	30	\$	196.00	\$	5,880.00	\$	100.00	\$	1,069.04	\$	7,049.04
Master of Theological Studies											
All Students	30	\$	223.61	\$	6,708.30	\$	100.00	\$	1,069.04	\$	7,877.34

## **Notes**

- 1. Tuition for all programs (except Law and Medicine) is assessed on a per unit basis. If you enroll in more or fewer units than the normal load,
- 2. Engineering and Applied Science Students are assessed on a per unit basis up to 15 units per term. The maximum per term tuition is equal
- 3. The Student Assistance Levy (SAL) is applied on a per term basis using the following charts. There is no ceiling on SAL.

Arts & Science, Commerce, Education, Nursing, Religion							
Units		Rate					
.01-3	\$	10.00					
3.1-6	\$	20.00					
6.1-9	\$	30.00					
9.1-12	\$	40.00					
12.1-15	\$	50.00					
15.1-18	\$	60.00					
18.1-21	\$	70.00					
21.1-24	\$	80.00					

Engineering and Applied Science SAL									
Rate									
\$ 8.25									
\$ 16.50									
\$ 24.75									
\$ 33.00									
\$ 41.25									
\$ 49.50									
\$ 57.75									
\$ 66.00									

Law & Medicine SAL: \$50.00 per term

Master of Divinity (2 year) SAL: \$33.33 per term

**4. Student Activity Fees (SAF)\*** have mandatory and optional components. Please see your respective student government website for more details about SAF. The AMS website is: http://www.myams.org; the SGPS website is: http://www.sgps.ca. **PLEASE NOTE THAT THE LISTED**STUDENT ACTIVITY FEES ARE SUBJECT TO BOARD APPROVAL.

## Students in the following programs pay additional fees:

\* Computing: Add \$15.00

\* Physical & Health Education & Kinesiology: Faculty Society Fee is \$27.00

- \* Concurrent Education Students not in final year pay the SAF associated with their primary program. They will be charged an additional \$25.00 Concurrent Education Society Fee.
- **5.** Registration in the Engineering & Applied Science Extended (900 section) program incurs a fee of \$470.40 per course. Registration in the Engineering & Applied Science Extended (900 section) program rewrites (Summer Term 2015) incurs a fee of \$466.00 per rewrite. Supplemental examination incurs a fee of \$250.00 per exam (see Faculty calendar for details).
- **6.** Registration in PACT 338 or 438 incurs an additional fee of \$400.00 per course.